SPORTS AUTHORITY OF INDIA (TEAMS DIVISION)

Dated: 26h Dec., 2019

Minutes of ACTC meeting, 21st November, 2019: Fencing Association of India (FAI)

The ACTC meeting was held under the Chairmanship of Shri. Radhey Shyam Julaniya, Secretary (Sports) to consider ACTC and budget request for **Fencing Association of India (FAI)**.

List of members present in the meeting is at the end.

- 2. At the outset Secretary (Sports) stated that Fencing being a medal prospect for 2024 and 2028 Olympics, the ACTC calendar and budget would be approved up to June 2021.
- 3. President, FAI made following commitments, which were included as binding decisions as a part of approved ACTC calendar and budget:-
- 3.1 FAI would ensure conducting of State level competitions as per the calendar.

3.2 FAI would make its best efforts to achieve the following targets:

Event	Men	Women
Olympic Games 2020 (Qualification)		01
Olympic Games 2024 (Qualification)	04	04

- **3.3.** FAI would make its best efforts for early talent scouting. Various sporting events such as Inter-district, State and National Level Competitions and National Open Championship would be held for identification of talent. FAI would submit a comprehensive proposal for financial assistance in this regard by **20**th January, **2020** to DG, SAI which would be funded under Khelo India.
- **3.4.** FAI would focus upon the administrative improvements in the State Associations so that 100% districts would take part in their State level competitions by the year 2022-23. However, year wise commitment, for good participation is as under. The list of 150 Districts for the year 2019-20 will be submitted by **10**th **January 2020**.

2019 – 20	150 districts in India
2020 - 21	200 districts in India
2021 – 22	250 districts in India
2022 - 23	300 districts in India

3.5. FAI has submitted the list of 07 centres to be developed as high performance centre for fencing and would start with 03 centres: ASI Pune for boys, NIS Patiala for girls and SAG Centre Nadiad for both (Boys & Girls). These three centres are to be established by 31st March 2020. An amount of Rs. 3 crore (Rs. Three Crore) for each centre will be provided from Khelo India. Since, ASI has all the facilities, third centre will be finalised by FAI & SAI. Subsequently, two to three centres will be established per year in 2021-22 and 2022-23.

R.S. JULANIYA, I.A.S. Secretary (Sports)

1 3 JAN 2020₀

Page 1 of 4

राधिका श्रीमान

The list of total 07 centres is as follows:

- a. NIS Patiala (Girls)
- b. ASI Pune (Boys)
- c. SAG Centre Nadiad (Boys & Girls)
- d. MP State Govt. Centre
- e. SAI Aurangabad
- f. SAI Centre Imphal,
- g. SAI Centre, Tellicherry, Kerala

Details of equipments to be procured for 01 (one) centre are attached as Annexure 'A'.

- **3.6.** FAI would submit the name of 50 District Centres as Intermediate Performance Centres for which Rs. 5.00 lakh for each centre will be provided for the equipments from Khelo India. The list of proposed centres will be submitted by **31**st January, **2020**.
- **3.7.** FAI would engage 03 High Performance Manager (01 for each event i.e. Epee, Foil and Sabre) and would invite the Foreign Experts through open advertisement on their website as well as on the website of the International Federation by **31**st January, **2020**.
- **3.8.** FAI has indentified coaches and support staff for the academies being setup. Salary of the coaches and support staff will be decided as per the decision of the DPAC of Khelo India. Recurring expenditure of the academies will be funded by Khelo India. **List of coaches and support staff is attached as Annexure 'B'**.
- **3.9.** FAI would submit the list of academies run by renowned coaches/International players with the possibilities of agreement with SAI up to 2028 to promote fencing at grass-root level by **31**st January, **2020**.
- **3.10.** FAI would submit the Curriculum -Vitae of Col. Vikram Singh Jamwal, Indian Army, Former International Fencer and currently advisor to FAI, who may work with SAI/FAI as Chief Executive Officer for Fencing by **05**th **January**, **2020**.
- **3.11.** FAI would start a monthly Domestic or Ranking tournaments for National level fencers from February, 2020 onward.
- **3.12.** FAI would organise One International Competition in India with the collaboration of International Federation to give maximum exposure to the Indian Fencers. **Details are attached as Annexure 'C'**.
- **3.13.** The committee has approved the request of FAI to provide Financial Assistance of Rs. 20 lakh (Rs. Twenty Lakh) to Ms. Bhavani Devi for participation in qualifying tournaments for Olympics. FAI will submit proposals within the specified amount with detailed tour program.

3.14. It was decided that there is no funding for junior camps and junior trainees will be trained at Khelo India Academies.

R.S. JULANIYA, I.A.S. Secretary (Sports)

1 3 JAN 2020

राधिका श्रीमान

Page 2 of 4

- **3.15.** Under the senior category, there will be foreign exposures for the senior team comprising 30 players and 06 coaches for each tournament, within a budgetary limit of Rs. 1.50 crore (Rs. One Crore Fifty Lakh Only). The list of International Exposures for Senior is attached as Annexure 'D'.
- **3.16.** For the junior category, the training programme has been designed in such a way so that the players can participate in training programmes along with tournament, each team comprising 30 players and 06 coaches/support staff for each tournament, within a budgetary limit of Rs. 3 Crore (Rs. Three Crore). The list of International Exposures for Junior is attached as Annexure 'E'.

Budget allocated for junior category may be utilised for senior category, if good junior fencers perform better and are able to move to senior category.

4. Other salient decisions are as below:

- 4.1 Equipments and consumables for Fencing to be procured in a time bound manner to ensure timely availability for procurement following to be done:-
 - (a) FAI would procure in a competitive and transparent manner. Project officer of SAI would be a member in the procurement committee.
 - (b) For procurement of equipments a gap analysis at Centres would be carried out by FAI in consultation with representative of SAI. Procurement will be done to bridge the gaps in equipments.
 - For procurement of above equipments and consumables respectively, SAI would release 50% of the budgeted amount as grant under Khelo India Scheme to FAI as in advance. The balance would be released on submission of proof of procurement/utilization certificate. FAI would maintain inventory and record of equipments and consumables. Any equipment having life of more than two years would be housed in SAI Centres and handed over to SAI Regional Centres where camps are approved in the calendar. In the first year centres will start with 150 fencers (50 fencers- 25 boys & 25 girls in each centre) and by the end of third year strength would be increased to 750 fencers.
 - (d) While procuring equipments and consumables quantity should be used for getting competitive prices but inventory should not be allowed to accumulate. FAI as well as SAI representative in its committee would ensure this.
- 4.2 SAI infrastructure and sports facilities, if available, would be provided for State and National level competitions free of cost as per the policy.
- 4.3 Department of Sports would grant necessary sanction for coach, referee and judge development under HRDS. FAI would submit a comprehensive proposal to Director (Sports) by 31st January 2020. 75% of the cost for upgrading knowledge/skills and acquiring higher level accreditation from International Federation would be funded under HRDS, with a condition that the beneficiary participant pays 25%. In case of SAI coaches, remaining 25% cost would be reimbursed to those who succeed in

1 3 IAN 2020

Page 3 of 4 राधिका श्रीमान

acquiring higher level accreditation along with their TA/DA. SAI would ensure participation of all SAI coaches in the programme.

4.4 Total budget of **Rs. 16.94 Crore (Rs. Sixteen crore ninety four lakh only)** was approved for FAI up to June 2021. The breakup of amount is as follows:

S.No	Purpose	Amount (In INR) (In Crore)
1.	National Fencing Championships (Sub Jr.,	Rs. 0.44
	Junior & Senior) @ Rs. 22.00 lakh per year	
2.	Funding for 03 (three) High Performance	Rs. 9.00
	Centres @ Rs. 3.00 crore each from 'Khelo	1.077100
	India'	
3.	Funding for 50 (fifty) district level	Rs. 2.50
	intermediate performance centre @Rs. 5.00	
	lakh each from 'Khelo India'	
4.	Foreign Exposures for Seniors	Rs. 1.50
5.	Foreign Exposures for Juniors	Rs. 3.00
6.	International Competitions in India	Rs. 0.30
7.	Special grant for Bhawani Devi, Fencer	Rs. 0.20
	TOTAL	Rs. 16.94 Crore (Rs.
		Sixteen crore ninety four
		lakh only)

Remuneration of 03 high performance mangers, CEO for fencing, Indian Coaches and support staff will be decided after evaluation of their educational, qualification and experience according to SAI norms as per the decision of Competent Authority.

5.0 The meeting ended with a vote of thanks to the Chair.

R.S. JULANIYA, I.A.S. Secretary (Sports)

1 3 JAN 2020

List of Equipments For 01 x High Performance Center

S.No.	Equipment	Quantity Required	Approx. Amount in Rs
Consu	mables /Perishables		
1.	FIE Electrical Epee Weapon Complete	100 X 11,500/-	11,50,000
2.	FIE Electrical Foil Weapon Complete	100 X 11,500/-	11,50,000
3.	FIE Electrical Sabre weapon Complete	100 X 10,000/-	10,00,000
4.	Electrical Foil Jacket INOX, (Back Zip)	100 X 10,000/-	10,00,000
5.	Electrical Sabre Jacket INOX, (Back Zip)	100 X 10,000/-	10,00,000
6.	Gloves (Foil & Epee)	100 X 2,000/-	2,00,000
7.	Electrical Sabre gloves/cuffs FIE	100 X 3000/-	3,00,000
8.	FIE Electrical Foil Blades	100 X 7000	7,00,000
9.	FIE Electrical Epee Blades	100 X 7000/-	7,00,000
10.	Sabre Blades	100 X 5,000/-	5,00,000
11.	Electrical Foil Blades Non FIE	100 X 3500/-	3,50,000
12.	Electrical Epee Blades Non FIE	100 X 4000/-	4,00,000
13.	FIE Sabre Mask	50 X 12500/-	6,25,000
14.	FIE Foil Mask	50 X 12500/-	6,25,000
15.	FIE Epee Mask	50 X 11800/-	5,90,000
16.	FIE Fencing Suits (Upper & Breeches)	50 X 23000/-	11,50,000
17.	Under plastron for men and women	50 X 7200/-	3,60,000
18.	Brest Protector	50 X 3800/-	1,90,000
19.	Universal Testing Box for weapon Control	02 X 80000/-	160,000
20.	Body Wire Foil/Sabre	100 X 2100/-	2,10,000
21.	Body Wire Epee	50 X 2000/-	100,000
22.	Electrical Sabre cable mask to jacket	30 X 1000/-	30,000
23.	Electric Jacket Tester According to FIE	04 x 2500/-	10,000
	Equipment		
24.	Weight 500 gms for checking conductive material	10X 10,000/-	1,00,000
25.	Video Referral System	02 X 10,00,000/-	20,00,000.
26.	Fencing Piste	20 X 5,00,000/-	100,00,000
	Electric Apparatus (with spools and cables) (Complete) with display of Score	20 X 300,000/-	60,00,000
otal An	nount Rs.		3,05,90.000.00

Note :- Equipment will be of reputed brand like (Allstar/AF/Ulaman/PBT) and not of Chinese origin.

R.S. JULANIYA, I.A.S. Secretary (Sports)

राधिका श्रीमान क्षेत्रीय निदेशक

	1.		S.No.
	South Asian Fencing Championship		Name of competition
	Srilanka, Nepal, Bangladesh (Out of 7 countries)		Names of the countries expected to participate
	60 days before	proposal	Proposed date for submission of
	March 2020	From	Period
	March 2020	То	iod
	04	uays	Total
Total Rs.	Hyderbad/Ch attisgarh/ Delhi		Venue
30,00,000.00	30,00,000.00	incurred as per norms	Estimated Expenditure to be

13.01.2020

R.S. JULANIYA, I.A.S. Secretary (Sports)

पिका श्रीमान क्षेत्रीय निदेशक

FOREIGN EXPOSURE (SENIORS) 2019-20) - PERIOD COVERING (Nov19 - Apr20)

Competition Championship M&E Korea 17/04/2020 23-04-2020 24 06	≓	Ceiling Limit									
Competition Championship M&F Korea 17/04/2020 23.04-2020 24	2			4	2020-03-08	2020-03-06	renerical disease	-			
Competition Championship M&F Korea 17/04/2020 23-04-2020 24	2		_	4	2020-03-07	2020 03 08	Athènes Greece	-	Senior Sabre	Competition	17
Competition Championship M &F Korea 17/04/2020 23-04-2020 24	2		_		20 20 20 22 22	2020-03-06	Athènes, Greece		Senior Sabre	Competition	16
Competition Championship M&F Korea 17/04/2020 23-04-2020 24 Lior World Fencing Championship M&F Korea 17/04/2020 23-04-2020 23-04-2020 Vosenior World Championship in Olympic Year Competition Senior Foil M 1019-12-13 2019-12-13 4 4 1 1 Colspan="6">2020-02-23 2020-02-23 2020-02-23 4 4 4 4 4 4											

Note :- Team will participate in Senior Asian Championship 2020.Rest FAI will decide on tournaments to participate with in ceiling limit of 1.5 Sels. JULANIYA, I.A.S.

Secretary (Sports)

राधिका श्रीमान क्षेत्रीय निदेशक

FOREIGN EXPOSURE (JUNIOR) 2019-20) - PERIOD COVERING (Nov19 - Apr20)

3,00,000000	Ceiling Limit									
2,91,42,066	Grand Total									
1,15,38,000	Total									
10,50,800	2	1	4	16/02/2020	15/02/2020	Doijan, France	Т	Junior & Youth	Competition	1
10,50,800	2	-	4	02-02-2020	02-01-2020	Belgrade, Serbia	3	Junior & Youth	Competition	2
10,50,800	2	->	4	02-02-2020	02-01-2020	Bratislava,	П	Junior & Youth	Competition	3 7
10,50,800	2	_	4	16/02/2020	15/02/2020	Dourdan, France	3	Junior & Youth	Competition	=
5,25,400	1	_	4	02-09-2020	02-08-2020	Plovdiv, Bulgaria	-	Junior & Youth	Competition	2 5
5,25,400	1	_	4	02-09-2020	02-08-2020	Plovdiv, Bulgaria	3	Junior & Youth	Competition	3 (
5,25,400	->	_	4	02-02-2020	02-01-2020	Dormagan, Germany	F	Junior & Youth	Competition	0
5,25,400			4	02-02-2020	02-01-2020	Dormagan, Germany	3	Junior & Youth	Competition	0 -
5,25,400		_	4	02-02-2020	02-01-2020	Dormagan, Germany	Т	Junior & Youth	Competition	1 0
5,25,400		_	4	02-02-2020	02-01-2020	Dormagan, Germany	3	Junior & Youth	Competition	0
10,50,800	2	1	4	16/02/2020	15/02/2020	Barcelona, Spain	Z	Junior & Youth	Competition	4.
10,50,800	2	_	4	16/02/2020	15/02/2020	Modling, Austria	П	Junior & Youth	Competition	ω
10,40,400		_	4	26/01/2020	25/01/2020	California	Т	Junior & Youth	Competition	_
10,40,400	1		4	26/01/2020	25/01/2020	California	3	Junior & Youth	Competition	د د
					lö	For Ranking (Juniors) 2019-20	Rankin	Other Mandatory Competitions For	er Mandatory	100
1,10,49,034	Total									
55,24,517	2	6	24	04-11-2020	04-03-2020	Salt Lake, USA	П	Junior & Youth	Competition	4
55,24,517	2	6	24	04-11-2020	04-03-2020	Salt Lake, USA	3	Junior & Youth	Competition	ω
						20	p 2019-	Junior World Fencing Championship 2019-20	nior World Fer	Jur
65,55,032	Total									
32,77,516	2	6	24	05-03-2020	25/02/2020	Indonesia	T	Junior & Youth	Competition	2
32,77,516	2	6	24	05-03-2020	25/02/2020	Indonesia	3	Junior & Youth)	Competition	,
						-20	ip 2019	Fencing Championship 2019 -20	Junior Asian Fe	Inr
Budget Request	No. of Support Staff	No. of Coaches	No. of players	To Date	From Date	Venue	M/F	Category		#

Note :- Team will participate in Junior Asian Championship 2020. Rest FAI will decide on tournaments to participate with in ceiling limit of 3 crore allotted

Pok.S. JULANIYA, I.A.S. Secretary (Sports)

राधिका श्रीमान क्षेत्रीय निदेशक

No.SAI/TD/Fencing/ACTC/2019-20(73) Sports Authority of India TEAMS Division

ACTC Committee meeting for "Fencing" Discipline for the Financial Year 2019-20 till June 2021 was held under the chairmanship of **Shri Radhey Shyam Julaniya Secretary (Sports)**, **MYA&S** in his Chamber on **21**st **November**, **2019**.

Following were present in the meeting:

- 1. Sh. Sandip Pradhan, DG, SAI
- 2. Smt. Radhica Sreeman, RD (TEAMS)
- 3. Sh. Rajeev Mehta, President, FAI
- 4. Sh. Bashir A. Khan, Secretary General, FAI
- 5. Sh. V S Jamwal, Advisor, FAI
- 6. Ms. Pratibha, Assistant, FAI
- 7. Sh. Mohit Ashwini, Asst. Coach (Fencing), SAI
- 8. Sh. Krishan Kumar, Asst. Coach (Fencing), SAI
- 9. Sh. Deepak Kumar, Project Officer (T), SAI